MATH225, Fall 2008 Name: S eolotions
Worksheet 6 (3.2-3.5) Section:

For full credit. vou must show all work and box answers.

1. Match each of the [ollowing matrices with its possible phase portrait. Hint: Find the eigenvalues.
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(b) Sketch the phase portrait. I\Iako sure vou include the straight-line solutions and at least two other trajectories.
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4. Given the second-order differential equation
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(b) Graph the phase portrait using HPGSystemSolver (from the software associated with your book) Graph at least
three separate trajectories in the phase portrait. Print and include your results
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(b) Gld[)h the phase portrait using HPGSystemSolver. Graph at least three separate trajectories in the phase

(or sketch by haadd)
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